BSEH MARKING SCHEME

CLASS- X SCIENCE (March-2024) Code: B

Ih-Aee & e 7 swR-fawg sifaw adt & T gomarcAs w@
winfas g1 I wdemeft & g7 o=, feg sagFa 3w R €
Y 39 39gFd 3w T am|

The answer points given in the marking scheme are not
final. These are suggestive and indicative. If the examinee
has given different, but appropriate answers, then he should

be given appropriate marks.

Q. Answers Marks
No.
1. | d) 39RegE

Upward 1
2. |c) Sga HUF 9 ST g

increases heavily 1
3. | gfd=eeg

intersect 1
4. |gRr

Diamond 1
5. |c) AT § W R 3T ¢

A is true but R is false 1
6. |TE ARt &I 3MeT g & ggd IE § AR AT 3

faEqa @i &1 Hifd AT ST FehT &

(1 37)
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Ifg &7 ug A g Wsat & 3w Y1 Wl w1 OEA
A o @ Tl fog AgeT & TRRI-EA @ AR A4 A
YA FHA dTel T H AT A Fel IRad @ aa
AT e R, 8T RUT CATCHTR &1 woia fAsqemiad
g SIuaT|
(1 37)

The planets are much closer to the earth and are
thus seen as extended sources.

(1 mark)
If we consider a planet as a collection of a large
number of point-sized sources of light, the total
variation in the amount of light entering our eye from
all the individual point-sized sources will average out
to zero, thereby nullifying the twinkling effect.

(1 mark)

f=-x=-280 @
STl x ¥ foig 1 g ¢
Igr fear s § f = -0.8m
(V2 3F)

ol &Y &THdT, P = 1/
+P = 1/(-0.8m) = -1.25D

(3R FT Y2 37h, SHIS T V2 3i)
feh &THT APRIcHS ¢, TATAT o F HT Jepfd racel ol F
gl

(Y2 37)
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f=-x=-80cm
here x is distance of far point.
Given, focal length (f) = —-0.8m
(Y2 mark)

We know that power of a lens (P) = 1/f
Or, P = 1/4m = 0.25 Dioptre

(2 mark for answer, %2 mark for unit)
Since the power is negative, the nature of the lens

IS concave lens.

(Y2 mark)
8.
5Q 802 120
AMA AA AAA
i 3
A Y
L. O

(et e, S, For AR faega ary & feem &
TE ATHIDT, TcAh H V2 37eh)

Science Code: B



BSEH Marking Scheme Class: X March-2024

50 80 120
i AMA AN AAA
6V — Y
T - {»)

(correct labelling of three resistance, battery, key
and direction of current, 2 marks each)
3gar
Or
(i) 6 Q & diT FfATTRT T 9 O FT JTRIET I FT &
forw, ar gfaRrerent &t aIsadha dUr R 9faIY & S
FUfhH H 3T G|
To get9 Q of resistance from three resistors of 6 (,
two resistors have to be placed in parallel and third

resistance in their series.

Science

Or
6Q
AAAA":
N
A 6Q B/ >c D
< NN 0\ e
\ 6Q
N AAAN,
(172 mark)
4
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(i) 6 Q & N gfeRIerepr & 4 Q IfAAUHAT gred A
& o ar gfoRitent & JoliihA 7 dar R 9fcRkias
Pl UTsaRH H 9T BT

To get 4 Q resistance from three resistors of 6 (,

two resistors have to be placed in series and the

third resistor in their parallel order.

Or

A 6Q g 6Q
o —AAAA— —AAA— ——
|
o
A AA"s

(1%2 mark)

§H I8 SIdd o [b o afFa P = V |
3H YR faegd arr | = PV
(%34?)
9 di9eT T &Y 3f8hde g,
dg | = 840 W/220 V = 3.82 A;

(3R FT V2 37, SHIS FT V2 3i)
T fdegd SERT &I 9faiy R = /I
(V2 37h)

= 220 V/3.82 A = 57.60 Q
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(3R &I Y2 3P, SHIS & ¥ 3d)

we know that the power input is P = V | Thus the

current | = P/V

(Y2 mark)

When heating is at the maximum rate, | = 840 W/220

V = 3.82 A

(Y2 mark for answer, %2 mark for unit)

and the resistance of the electric iron is R = V/I

= 220 V/3.82 A = 57.60 Q.

(Y2 mark)

(Y2 mark for answer, %2 mark for unit)

10.

fo§ & 338 h = +2.0 cm
Blehd g f = +10 cm

(Y2 3-1?)
fda-gdt u = -15 cm
(V2 3-1%)
1 1_1
v u_f
1 1 1
EIT;—;+7
) )
(Y2 3Th)
1 1 1 1 1
-_——t =t —
v (-15) 10 15 10
1 -2+3_1
v 30 30
Jr v = 30 cm
6
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(3R & Yo 3ih, SHIS & ¥ 3ih)
vV F UelcAs [ I8 &2ar § & ufafee ofF &
YRl she & als 3R 30 cm gl T &efd &l
gfafde areafas aur 3eer gl

(Y2 37)

(Y2 31h)

(Vo 37h)
Height of the object h = +2.0 cm
Focal length f = +10 cm
(Y2 mark)
object-distance u = -15 cm
(Y2 mark)
111
Since - u_f
1 1 1
or el
D U
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(Y2 mark)

1 1 1 1 1

+—= +
v (-15) 10 15 10

l_—2+3_i
v 30 30

or v =30 cm

(Y2 mark for answer, %2 mark for unit)
The positive sign of v shows that the image is formed
at a distance of 30 cm on the other side of the

optical centre. The image is real and inverted.

(Y2 mark)

Magnification m = =2
agnification m = s
or, h =h(v/u
(Y2 mark)
Height of the image, h" = (2.0) (+30/-15) =-4.0 cm

(2 mark for answer, %2 mark for unit)

e
Magnification, —15cm
(Y2 mark)

Or
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GRT 3T & 2 3%H)
gfafes &I yepfa: aredides va 3oer
Nature of image: real and inverted.

(Y2 31)

(ii)

(3T 3IRG & 2 37H)
gfafes T gepfa: memdy T dren

Nature of image: virtual and erect.

(Y2 3-1%)
11. | ¢) 9fa AR 1
Antioxidant
12. | b) TaIfesd 31Far 1
9
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Acetic acid
13. | 0=cfaE 1
Antacid
14. | U8 37¥ar 9arer 37¥ar dd 1
Kerosene or petrol or oil
15. | d) A 38T § W R ¥ & 1
A is false but R is true.
16. ;;m”r
Fle — }_L—Q:hg
FTrcATRd
FHIIT The
e~Cu® EARCPE
Cu’in~
=
AU 2
(VTS T)
(2 31?)
Key e
— gt
€l ’—%_'
Cathode—# ’ <+—Anode
Acidified
copper
e ~Cu* sulphate
” solution
(@101 e~
L Tank
Impurities
(anode mud)
(2 mark)
10
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17. | grsgiere
Hydrogen
(1 31)
Fe + H,SO, > FeSO, + H,
(1 37)

Or
TAeId AT (31YaT FIg 3= fAHT) Stainless steel | 2

(or any other alloy)

(Y2 mark)

dIgT, Aehol, HITAIA; Iron, Nickel, Chromium

(1 mark)
ST eTh & fa#ToT; Rust resistance materials are
formed.

(Y2 mark)

18. 3SAT (heat) 3

(i) 2FeS04(s) ——— Fex03(s) + SO,(g) + SOs(g)

>SHAT (hea )

(i) CaCO; "°*) Ca0(s) + COs(g)
(iii) 2Pb(NOa)x(s) %0 oppO(s) + 4NOy(g) +
O2(g)

(IV) 2H20(|) ﬁ'd[ﬂ?f‘ETRT(electric current)

Hx(g) + O2(g)
QTéf sunli
(v) 2AgCl(s) —— EIM o Ag(s) + Clalg)

A HITHIL (sunlight)

(vi) 2AgBr(s) 2Ag(s) + Bry(g)
(FIS I, ISP T 1 3H)
19. | (i) SfFar U3sT T H 3

For making baking powder

11
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(i) TwcfAs & T A, & g & HRUT Jg Uc F 3HFol
T HIAHAT I SRl FIH TEd TG &
In the form of antacids. Being alkaline, it neutralises
excess acid in the stomach and provides relief.
(iii) SHHRT 3T/ WE-3F HAPemHR H Y fohar Srar
gl
It is also used in soda-acid fire extinguishers.
(I &7 1 37)
Or
CaOCl,
(1 31)
SR TSI EIT Tef W FARNA I fohar & falers ov
&1 fA#ATor g g
Bleaching powder is produced by the action of
chlorine on dry slaked lime.
(1 37)
Ca(OH), + Cl, — CaOCl, + H,0O
(1 37)

20.

(i) drdsireT

Propanone CH3;COCHj;

(i) s

Butanone CH3COCH,CHs4

(iii) UecaileT

Pentanone CH3;COCH,CH,CH;

Science
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(iv) gerbiatteT

Hexanone CHs;COCH,CH,CH,CHs,

(v) gaesT

Heptanone CH5;COCH,CH,CH,CH,CHs5

(Ich &7 1 37h)
Or
IR Al dellT g1d € 3R el arely & el gl
AT & 3] ofdl S@oll alel hiaiferdlelen 3@l &
Af3Tw vd AeRA @ g1 ¢l
(1 37R)
HIeT & ITfoeh AT STel § STdich dleel AWl el &| 5
IREIRE BRAT T §1 30 YR HgA & O] e
EGAT AN & §, ST8l 319] &1 Ush T ol o7
AR dur Iafas T agX $r AR g gl

(1 31)

Na*

Nat

Na*t

(2 31)

13
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SHY Ul H SHORNS SeIdl &1 $H YR A & AT
HoT &1 el g [Ahes H HAce aar g 3R gAR
$93 A% & S g

(1 3i)
Most dirt is oily in nature and as you know, oil does
not dissolve in water. The molecules of soap are
sodium or potassium salts of long-chain carboxylic

acids.
(1 mark)

The ionic end of soap interacts with water while the
carbon chain interacts with oil. The soap molecules
thus form structures called micelles where one end
of the molecules is towards the oil droplet while the

ionic-end faces outside.

(1 mark)
Nat
Q9 o
@ -
® -
NE'1+ '.AMAAe 0il
droplet
O &
O ®
+
. . . Na
Na*t
14
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This forms an emulsion in water. The soap micelle
thus helps in pulling out the dirt in water and we can

wash our clothes clean.

(1 mark)
21. | a) IATETSH
Fore-brain 1
22.|b) Y 1
23. | 9w
Pituitary 1

24. | gL AT TbcarhyuT & f@utg B kAt A Wi AR
TSt T Fef&r Y Iecaleldeiel gl STl &

This growth of shoots and roots in response to the

pull of earth or gravity is called geotropism.

25. | d) A 38T § W R 7 &

A is false but R is true.
26. | (1) ATl-ATTeIAT H 37T
Obstruction in drains.

(2) FaT ST

Soil pollution.
(3) TelTiEeeh SHE arif l foldrel ol & ATPBRY St | 2
Sl Y|

Death of herbivores by ingesting substances such
as plastic.

(4) AT RR H S IaE|

15
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Biomagnification in the human body.

(S &, I AF FT 1 3ih)

Or
(i) CFC & 3cuiged H &
Decrease in production of CFC.
(1 37)

(i) CFC Iga Rhokex &1 AT
Manufacturing of CFC-free refrigerators.

(1 31)

27.

y
1

@@EE) e | o (wmtsE)

Plumule
Mﬂure shoot)
fCo[yledon /}\ é@ \JJ Radicle

food store) (future root)

f_‘-\-._‘_\“ — f 2
< o
J.‘r m/(gﬁgﬂg)
EiE R - &R . HdAT

_—

28.

IE Teh cIReNIoIAT EXT=AT 8, S areiery v fAfy o el

glel &l

This is a disc which is embedded in the uterine wall.
(1 mark)

ST T B AR F I & gAY AT §1 A F Faw A

TFIETT gid &, S 9ae &l eaiied id &

It contains villi on the embryo’s side of the tissue.

On the mother's side are blood spaces, which

surround the villi.

Science

16
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(1 mark)
Ig A @ YT H Uerdl & TR g Th g6c &aid
Yl A Bl
This provides a large surface area for substances to
pass from the mother to the embryo.

(1 mark)
29. | #Zel of ACY & GiYl & 3ol [Auaal fawedr oraton
FI FeIgTA ThAT| 3ogial grar b fJuaidr (aeed)
SI&TU grel Gl & YYUMET0T GaRT Sfofel & HolEd®d

gad N F1 & Fad Tah g oefor geida &l 3T
GEYT FETUT YR A€l g3

Mendel studied several contrasting characters of
pea plants. He found that reproduction by cross
pollination of plants with alternative traits
resulted in the first generation F1 displaying 3

only one trait and no other trait.

(1 37%)

3CIgl0Td; o9 HSH of #cY & od e 3T i 9ig
ST THIOT HAAT af 39 JUH Tdfd drer F1 & T
q‘r‘z?rai-q‘mb—crgtr%?rl sg & 3T a1 fF @y Jeron A
q Hhad TH Uge o&Tor § @ @m| 37 et @
AT gamor g g gl

17
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For example, when Mendel hybridized the tall
pea plant and the short plant, he received all
the plants tall in the first offspring generation
F1. This meant that only one ancestral trait of
the two traits showed. There was no mixed

evidence of both of them.

(1 37%)
394 F1 WEr & 9l & TEUrErer 8§ 39mAT| 39
cadl 9l F2 # @oft oY) o9 &1 &1 sHA Teh =lUTS
g §ist ¥ Ao o ofd GiEl & F&IT H gHTAT IR
dier dial & TT&ToT I THTAT FeT|

He grew F1 generation plants by self-

pollination. Not all plants in this second
generation F2 were tall. A quarter of the plants
were dwarfs. Mendel called the trait of tall
plants dominant and the trait of dwarf plants
recessive.

(1 31R)
30. | Ig 9 WA g, Torad U §gX ¥ faw gerdf s 3o
g & # gREfdd & &ar g1 ¥ 9 FEd
SISFASS dUT Sl & ®9 A fov od 8, s §F &
USRI AT FeRifthel a1 3URYTT H Feigsge H| 5
aRafda & fow ama gl

It is the process by which autotrophs take in

substances from the outside and convert them into

18
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stored forms of energy. This material is taken in the
form of carbon dioxide and water which is converted

into carbohydrates in the presence of sunlight and

chlorophyll.

(1 37h)
6CO, +12H,0 -— TR ¢ 11 0 160, + 6H,0
T T HPRT (repepren)
6CO, +12H,0 Cgﬁ’;ﬁgﬁ{“ CeH,,0g + 60, +6H,0

(Glucose)

(1 37)
ST YohH & NI [AITali@d geaAl glar a—
The following events occur during this process -
(i) FARITRS SaRT I Fotl I AN FAT|
Absorption of light energy by chlorophyll.

(1 3i)
(i) TPTRr Foll I TATATAS Foll H FATART HLAT T2T
STel 3{UT3{] T BISglelel AT ATeHdlalel  3f9ucH|
Conversion of light energy to chemical energy and
splitting of water molecules into hydrogen and
oxygen.

(1 3i)
(iii) FIeeT STSIHTFASS AT FIE@lS3C H NTTIA|
Reduction of carbon dioxide to carbohydrates.

(1 37)

19
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g AT gl ¢ fob T TROT Teehlel Teh & &1 Gl
gl

These steps need not take place one after the other

immediately.
3adr
Or

e 1 et
TR+ e SRATHTES +
9l (2 76 4T

el _>(3_amgﬁm merWﬁBWm)
(687 )

FoH TEHTTEE + 3 + Fol

T2 H)

Absence of
oxygen

(in yeast)

Ethanol + Carbon dioxide + Energy
(2-carbon molecule)

In
cytoplasm
Glucose =——— Pyruvate
(6-carbon (3-carhon
molecule) molecule)
+
Energy

Lack of oxygen
i Lactic acid + Energy

) (3-carhon molecule)

(in our
muscle cells

Presence of
oxygen

(in
mitochondria)

Carbon dioxide + Water + Energy

(3 mark)

Science
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gl TRUT Tofehlel, Teh ©: hlelel dTel 3] T ciiel hiee]
grel 370] Yrikde # fa@s g1 Ig UshA HfAhreey A
gl g

The first step is the break-down of glucose, a six-
carbon molecule, into a three-carbon molecule called
pyruvate. This process takes place in the cytoplasm.

(Y2 mark)

fPuad & AT de H URde SUATA JAT FIeeT
SISHTFAISS H URdfdd glaT &l i Ig Whd ag
(3iterefieter) T IR & gr &, 38 AT @
ed ol

In yeast during fermentation, pyruvate is converted

into ethanol and carbon dioxide. Since this process
takes place in the absence of air (oxygen), it is called

anaerobic respiration.
(Y2 mark)

URFde H  [Q@sd  Jfeled # ITIET WS
HASCIRI =T H gIdT gl TE The cieT HIeeT dTel UTIHAC
% 3] I fAWST Hih el HIel SFHFASS & 3]
Gl ¥l g 3¢uG Sl &, FIh T§ THA dAYg
(3iTerdere) & 3URATT #F gIar §, Ig IIarT &aaed
HEeITdT &

Breakdown of pyruvate using oxygen takes place in

the mitochondria. This process breaks up the three-

21
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carbon pyruvate molecule to give three molecules of
carbon dioxide. The other product is water. Since this
process takes place in the presence of air (oxygen),

it is called aerobic respiration.
(Y2 mark)

S gART URl HIARIAT F 3HTerdstel T AT & ATar
g, TRdT & @S & AT gERT 9 YA AT §,
TGl YRFAC Ueh 3 cilel shlelel dTel 30T oifefeeh 37l
H gRafda & e gl

When there is a lack of oxygen in our muscle cells,
another pathway for the break-down of pyruvate is
taken. Here the pyruvate is converted into lactic acid

which is also a three-carbon molecule.

(Y2 mark)

—— e —

Science
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